MeHto

1 ¢-T M3 Kanyctbl n ABNOK
2 MaKapoHbl OTB

3 KoTneta
. 4 vait
5 xneb nw 0,03 1,89
6 xneb px 0,03 1,8
7 MONOKO 0,2 28
8 dpyKTbI 0,11 15,42
UeHa: 106,54
obep 1-4
1 c-T »3 cB orypuos 0,08 11,66
2 bopuy 0,25 8,55
3 kapTodenbHoe ntope 0,18 16,1
4 TedpTenn 0,1 34,8
5 xneb nw 0,03 1,89
6 xneb px 0,03 1,8
7 vavi 0,2 1,91
8 Bynouka 0,1 14,33
9 MONIOKO 0,2 28
10 ¢pykTbI 0,2 30,09
UeHa: 149,13
obepn m-0
1 c-Tu3 cB orypuoB 0,08 11,66
2 6opuy 0,25 8,55
3 kapTodenbHoe ntope 0,18 16,1
4 Tedrenn 0,1 34,8
5 xneb nw 0,03 1,89
6 xneb px 0,03 1,8
7 vai 0,2 1,91
8 bynouka 0,1 14,33
9 dpyKTbI ; 0,085 11,96
LUeHa: 103
obep rng

1 ¢-T 3 cB Orypuos 0,08 11,66
2 6opuy, 0,25 8,55
3 KkapTodenbHoe niope 0,18 16,1
4 TedTenn 0,1 34,8
5 xneb nuw 0,03 1,89
6 xneb px 0,03 1,8
7 van 0,2 1,91
8 PpyKTbI 0,03 4,02

. LeHa: 80,73
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